=
—

o Eo1d <A= vt

4x*> +20x + 0O

@ 25 ® 30 @ 35 ® 40

D 20



o Q2o ol o8 B4e 5 2H? (H,a>0,b>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x-2y+1)

@® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a?-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



3. (r+y+2)? - (x-y-2)7 S looliora?

O 2x(y+2) @ 4x(y-2) ® x(3y+2)

@ 4x(y+2) ® 4y(x+2)



! ] x—1)2 X— o] Zro 15
s & (1?4 60r—1) + 5 2f ghS Fetei=,

5
3%

4., x=




5.

16x*—81y* = (Ax2+By?)(Cx+Dy)(Ex+Fy) &t & W, A+ B+C+
D+E+F o gk= Toted=t. (4 A, B, C, D, E, F = %°lth)

D L
-



